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Name: Y\E\( Right Triangle Test

1. Write the sine ratio of ZA.

a. Sin A=4/3
b. Sin A=3/5
("c._Sin A=4/5)
d. Sin A=3/4

2. Inthe ratio tan 26 = a/6. The a represents what part of the triangle?

a. leg b. hypotenuse | c. opposite . d. adjacent
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3 If T =0.268, then m2A= ?
\ a. 15 b. 0.02 c. 74.5 d. 1
/ .
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" 4. Solveford. Si_l_’l,‘52=;i2

a. 1664 b. 19.7 ‘c. 25.2& d. 41

d= 2% s (53)

5. Solve for the variable. Round to the nearest whole number.

Y

o Sw 2
oPP .
. Pt d Q= SW‘-\ (%3 %L‘\\f)

[
a. 48° b. 34° \c. 42°S d. 30°



6. Calculate the length of side c.

C

0= —
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C = \1 —Ean—lo—

\a. 47 S b. 16 c. 6 d. 24 cqu.—f

7. Find the height of the tree to the nearest foot.

a. 136.1ft
| b. 11ft )
c. 14.7ft
d. 594 ft
N
P — tov\gﬁj = 20
oady = ZO‘tan‘Z‘i J =14

8. An airplane pilot sights a life raft at a 26° angle of depressmn The
airplane’s altitude is 3 km. What is the airplane’s surface distance d from
the raft? Round your answer to the nearest whole number.
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a. S5km [b. 6km ! c. 4km d. 3km a%® 6



9.

A cat is on top of a tree that is 14.5 feet tall. How long must the ladder be to
reach the cat if it makes a 46° angle with the ground?

A 10.07 fect B 10.43 feet ( T 20.16 feet) D 20.87 feet
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10. A captain of a ship spots the top of a lighthouse at a 47° angle of elevation. He
knows that the lighthouse is 50 ft above the shoreline. How far is the ship from
the shore? '

a) Draw and label a picture to represent the lighthouse, shore, and
angle of elevation. A %’ fr
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b) Calculate the distance of the ship from the shore.

‘ 50
tony = vl

(

SO:X‘EQY\LL_] ()(::‘-H,G-p\
tan4] - ten W7

——
<«

c) How far would the ship be from the shore if the angle of elevation

was 55°7? ]
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11.
A new Super Slide has a rise of 15 feet and a run of 24 feet as shown in the figure

below. (3 points)

24 ft

& Calculate the a,nglevof elevation for the Super Slide. Use mathematics to
explain how you determined your answer. Use words, symbol.s or both in y

our explanation. (S A LS
tan© = 2q B =L ( -
gle of

® The safety code for any pla\fgxound slide requires a ma.:\lmum an
elevation to be 30°. How could the designer change the dimensions of the
new slide to meet the safety code? Use mathematics to justify your answer.

Make e \r\e\s\r\—\ lower  or
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12, S
Tyeisha is standing 20 feet from the base of her new apartment building. The

balcony of her apartment is at an angle of 50° from where she is standing. How
many feet off the ground is Tyeisha's balcony? N
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(4 +225 =%
289 = X©
7 - x
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| XQ’A—IG =713
® b X+ = 1%
xl = 529
A3 -
/xﬂ 272.9%/
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